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THE SIMPSONS’ FAMILY TREE
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	Homer is the ___________________________

Marge is the ___________________________

Lisa and Maggie are the ___________________________

Bart is the ___________________________

Bart is Patty and Selma’s ___________________________
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Jacqueline Bouvier is Marge’s ___________________________

Jacqueline is Homer’s ___________________________
Jacqueline is Bart, Lisa and Maggie’s

___________________________

Jacqueline has three __________________ (Marge, Patty and Selma).
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This is Abe. He is Homer’s ___________________________.

Abe is Marge’s ___________________________.

Abe is Bart, Lisa and Maggie’s ___________________________.

Jacqueline and Abe are Bart, Lisa and Maggie’s ___________________________.
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Patty and Selma are Marge’s ___________________________.

Patty and Selma are Bart, Lisa and Maggie’s ___________________________.

Patty and Selma are Homer’s __________________________
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Ling is Selma’s ___________________________.

She is Bart, Lisa and Maggie’s ___________________________.

She is Marge and Patty’s ___________________________.




